

## **REQUEST FOR QUOTATION**

Date: 12 March 2024 RFQ No.: **100-24-01-263** 

Name of Company:	
Address:	
Name of Store/Shop:	
Address:	
TIN:	
PhilGEPS Registration Number:	

The **City Government of Pasig**, through the Bids and Awards Committee (BAC), intends to procure **Supply and Delivery of Various Textbooks and Instructional Materials – Pasig City Library** with an Approved Budget for the Contract (ABC) of **Php 531,255.99**, in accordance with **Section 53.9** of the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184. Please quote your best offer for the item in the table below.

The Project shall be awarded as One Project having several items that shall be awarded as one contract. Quotations received exceeding each total Cost per Item and/or the total Approved Budget for the Contract shall be rejected.

					Approved Budget		Price Offer	
ltem No.	Item Description	Brand Name (PLEASE DO NOT LEAVE BLANK)	QTY	UOM	Unit Cost	Total Cost	Unit cost	Total Cost
1	Alamat ng Lansones-Lamberto E. Antonio		2	cps	330.00	660.00		
2	Asul na Araw - Pipa Escalante		2	cps	330.00	660.00		
3	Bakit matagal ang sundo ko? - Kristine Canon		2	cps	330.00	660.00		
4	Bilog na Itlog - Al Santos		2	cps	330.00	660.00		
5	Si Ching na takot sa dilim - Aleli Dew Batnag		2	cps	330.00	660.00		
6	Dalawang Dagang bulag-Rodolfo Desuasido		2	cps	330.00	660.00		
7	Digong Dilaw - Virgilio Almario		2	cps	330.00	660.00		
8	Go! - Becky Bravo		2	cps	330.00	660.00		
9	Ang Hilig ni Manda - Lamberto E. Antonioi		2	cps	330.00	660.00		
10	Si Hugo Hunyango - Charles Funk		2	cps	330.00	660.00		
11	Kaibigan ko ang Buwan - Chie Litiatco-Acosta		2	cps	330.00	660.00		
12	Mario's Special Day - Fiona Fajardo		2	cps	330.00	660.00		
13	Matandang Matabang Pusa - Virgilio Almario		2	cps	330.00	660.00		



14	May mga Bulaklak - Mary Anne Escalante	2	cps	330.00	660.00	
15	May Sampung Pulang Langgam - Genaro R. Gojo- Cruz	2	cps	330.00	660.00	
16	May Tatlong Palaka - Virgilio Almario	2	cps	330.00	660.00	
17	Si Pitong Patago-tgo-Kristine Canon	2	cps	330.00	660.00	
18	Si Tembong Mandarambong-Susan Dela Rosa Aragon	2	cps	330.00	660.00	
19	Ang Tikbalang Kung Kabilugan ng Buwan-Virgilio Almario	2	cps	330.00	660.00	
20	Little Life Lessons on Kindness-(story book)- Agnes and Salem De Bezenac	3	cps	178.8	536.4	
21	James and the Giant Peach-Illustration Quientin Blake	1	cps	466.8	466.8	
22	World Famous great speeches-Gagan, Jain	1	ср	827.37	827.37	
23	World's Unforgetable short Stories-Patricia Moore	1	ср	728.18	728.18	
24	Encyclopedia of General Knowledge	1	ср	628.18	628.18	
25	Bahay Kubo-Pergylene Acuna (5"x5")	2	cps	238.8	477.6	
26	Dumaan si Butiki-Mary Gigi Constantiino (6.5"x6.5")	2	cps	300.00	600.00	
27	Ang Una kong Alpabeto-Illustrations Bor Sinaban (5"x5")	2	cps	238.8	477.6	
28	Ibon Adarna-Illustrations-Jason Sto Domingo(6.5"x6.5")	2	cps	300.00	600.00	
29	Kapitbahay Kubo-Illustrations-Pergylene Acuna(6.5"x6.5")	2	cps	300.00	600.00	
30	Kara at Play-Lara Saguisag (6.5"x6.5")	2	cps	300.00	600.00	
31	Kulay!-Illustrations-Eli Camacho (5"x5")	2	cps	238.8	477.6	
32	Kung May Dinosaur Sa Kamalig ni Lolo-Dandan- Albano (6.5"x6.5")	2	cps	300.00	600.00	
33	Maghapon Namin ni Nanay-Genaro Gojo Cruz (6.5"x6.5")	2	cps	300.00	600.00	
34	Mga Hayop sa Filipinas-Illustrations-Lori Espiritu (5"x5")	2	cps	238.8	477.6	
35	Sampung mga Daliri-Illustrations-Hubert Fucio (5"x5")	2	cps	238.8	477.6	
36	Charlie and the Chocolate Factory-Illustrations Quientin Blake	3	cps	466.8	1,400.40	
37	Makinang-Makina - Genaro R. Gojo Cruz	3	cps	118.8	356.4	
38	Nemo, ang batang Papel-Rene O. Villanueva	3	cps	118.8	356.4	
39	Si Pilong Patago-tago, by: Kristine Canon, 2004, ISBN: 978-971-508-240-8	3	cps	118.8	356.4	
40	The Moon is my Friend-Chie Litiatco-Acosta	3	cps	118.8	356.4	
41	Ang Alamat ng Palay-Virgilio S. Almario	3	cps	118.8	356.4	
42	Ang Alamat ni Nina Gigantes-Patricia Ramos	3	cps	118.8	356.4	
43	Ang Tikbalang Kung Kabilugan ng Buwan-Virgilio S. Almario	3	cps	118.8	356.4	

(02) 8643-1111 \* (02) 8641-1111 loc 1461 \* bidsandawards@pasigcity.gov.ph \*

Page 2 of 9 | RFQ No. 100-24-01-263 | RLD

				I	1	
44	Bayan ng Basura-Augie Rivera	3	cps	118.8	356.4	
45	Edsa-Russell Molina (9"x7")	3	cps	118.8	356.4	
46	Estrelita-Illustrations-May Tobias-Papa	3	cps	118.8	356.4	
47	May Higante sa aming Bahay-Rhandee Garlitos	3	cps	118.8	356.4	
48	Nawawala si Miningning-Michael M. Coroza	3	cps	118.8	356.4	
49	Paano kumain ng Kulay?-Mabi David	3	cps	118.8	356.4	
50	Ang mga Lambing ni Lolo Ding-Michael M. Coroza	2	cps	118.8	237.6	
51	Matandang Matandang buto-Liwliwa Malabed- (7"x9")	3	cps	118.8	356.4	
52	Mga Sinungaling na Hayop sa Pilipinas-Liwliwa Malabed (7"x9")	3	cps	118.8	356.4	
53	The Quick and Careful adventures of Muni- Illustrations-Denise Nicole P. Tolentino (6"x9")	2	cps	330.00	660.00	
54	Detective Boyss of Masangkay: Ang Mangkukulam Book 1-Bernalyn Hapin Sastrillo- (6"x9")	2	cps	330.00	660.00	
55	Dalawang Dagang Bulag, By Rodolfo Desuasido	3	cps	118.8	356.4	
56	Detective Boyss of Masangkay: Ang closed door mystery Book 2-Bernalyn Hapin Sastrillo-(6"x9")	2	cps	330.00	660.00	
57	Pangkat Papaya-Xi Zuq (6"x9")	2	cps	330.00	660.00	
58	Inside Daniel's head-Joji Reynes-Santos	2	cps	420.00	840.00	
59	Si Guillermo at ang Tribu ng mga Zippoli-David, Nel-lo	2	cps	420.00	840.00	
60	Ang Taon ng Pusa-Jaume Copons	2	cps	330.00	660.00	
61	Ang Agni at ang Ulan-Dora Sales	2	cps	420.00	840.00	
62	Si Dru at ang kuwento ng limang kaharian-Clara Ng	2	cps	420.00	840.00	
63	Ang Kaibigan kong Mabini-Becky Bravo- (8.5"x11")	2	cps	162.00	324.00	
64	Super Dino Pre-School, Picture learning	1	cps	495.93	495.93	
65	Jungle Tales	3	cps	358.8	1,076.40	
66	Kids Classic	3	cps	358.8	1,076.40	
67	Bedtime Stories	3	cps	358.8	1,076.40	
68	My First 1000 words	3	cps	358.8	1,076.40	
69	My color 101 bedtime stories	3	cps	358.8	1,076.40	
70	Why do Zebras have stripes	5	cps	118.8	594.00	
71	100 best Bible Stories	3	cps	478.8	1,436.40	
72	You can't see a Dodo at the Zoo-Fred Ehrlich	3	cps	238.8	716.4	
73	The Boy with one hand-Jennifer Yap-Caspe	3	cps	298.8	896.4	

(02) 8643-1111 \* (02) 8641-1111 loc 1461 \* bidsandawards@pasigcity.gov.ph \*

Page 3 of 9 | RFQ No. 100-24-01-263 | RLD

75 1   76 1   77 1   78 1   79 1   80 4   81 1	My Big board book fruits     Dr. Seuss's ABC     My First Brain Quest ABC's     More than 1000 Phinics for young Readers     My Big Book of How, When and Why     Cocomelon 5-minutes stories     Alladin Annual 2020	5 3 2 2 2 2 2 2 2	cps cps cps cps cps cps	178.8 478.8 570.00 478.8	894.00       1,436.40       1,140.00	
76 M   77 M   78 M   79 C   80 A   81 F	My First Brain Quest ABC's More than 1000 Phinics for young Readers My Big Book of How, When and Why Cocomelon 5-minutes stories	2 2 2 2	cps cps	570.00	1,140.00	
77 M 78 M 79 C 80 A 81 F	More than 1000 Phinics for young Readers My Big Book of How, When and Why Cocomelon 5-minutes stories	2	cps			
78 M   79 C   80 A   81 F	My Big Book of How, When and Why Cocomelon 5-minutes stories	2		478.8	1	1
79 0   80 A   81 F	Cocomelon 5-minutes stories		cnc	1	957.6	
80 A 81 F		2	L chs	670.8	1,341.60	
81 F	Alladin Annual 2020		cps	750.00	1,500.00	
		2	cps	574.8	1,149.60	
82 <i>A</i>	Fetch (Dalhin mo Ako)-Becky Bravo	2	cps	238.8	477.6	
	Alamat ng Butanding-Segundo D. Matias Jr.	2	cps	238.8	477.6	
83 A	Alamat ng Bawang-Segundo D. Matias Jr.	2	cps	238.8	477.6	
	Monster Rescue (Sagip Halimaw)-Raymond Falgui	2	pcs	238.8	477.6	
85 A	Ang Pambihirang Babaeng hndi umuupo-Russel Molina	2	cps	238.8	477.6	
86 S	Salu-Salo (A Gathering)-Susie R. Baclagon- Borrero	2	cps	238.8	477.6	
	Naalala ko ang aking paaralan-Genaro Gojo Cruz	2	cps	238.8	477.6	
88 A	Alamat ng Mansanas-Segundo D. Matias Jr.	2	cps	238.8	477.6	
	Sina Elephas at Estegodon noong unang	2	cps	238.8	477.6	
	oanahon-Rene O. Villanueva Alamat ng Kalabaw- Segundo D. Matias	2	cps	238.8	477.6	
91 1	Tahi-Tahi-Russel Molina	2	cps	238.8	477.6	
92 A	Alamat ng Gagamba-Segundo D. Matias	2	cps	238.8	477.6	
93 N	May Magic si Inay-Segundo Matias Jr.	2	cps	238.8	477.6	
	Ang Mahiwagang Bag ni Mama-Lauren	2	cps	238.8	477.6	
	Macaraeg Pitong Anghel-Genaro R. Gojo Cruz	2	cps	238.8	477.6	
96 A	Ang payong na takot sa ulan-Rommel Pamaos	2	cps	238.8	477.6	
97 A	Ang mahiwagang kuba-Severino Reyes	2	cps	238.8	477.6	
98 L	Little Life lessons on Shyness-(storybooks)	3	cps	178.8	536.4	
	Little life lessons on Responsility-(storybooks)- Agnes and Salem De Bezenac	3	cps	178.8	536.4	
100 L	Little life lessons on Obedience (storybook)- Agnes and Salem De Bezenac	3	cps	178.8	536.4	
101 L	Little life lessons on Respect(storybook)-Agnes	3	cps	178.8	536.4	
102 L	and Salem De Bezenac Little life lessons on Courage-(storybooks)-Agnes	3	cps	178.8	536.4	
103 L	and Salem De Bezenac Little life lessons on Thankfulness-(storybooks)-	3	cps	178.8	536.4	
	Agnes and Salem De Bezenac The KId's book of brain boosters	1	ср	595.12	595.12	

(02) 8643-1111 \* (02) 8641-1111 loc 1461 \* bidsandawards@pasigcity.gov.ph \*

Page 4 of 9 | RFQ No. 100-24-01-263 | RLD

r			r –		1	
105	The Charles Dickens Collection. Hb. Arcturus(set	1	ср	9,337.77	9,337.77	
	of 5 books w/slipcase)-A Christmas carol, -hard					
	times					
	-a tale of two cities					
	-oliver twist					
	-great Expectations by Dickens					
106	Classic Illustrated: AChristmas Carol. 48pp.Pb.	5	cps	632.5	3,162.50	
	SaltWay bu Dickens					
107	Classic Illustrated: A Tale of Two Cities,48pp. Pb.	5	cps	623.5	3,117.50	
	SaltWay bu Dickens					
108	Classic Illustrated: The Odyssey, 48pp.Pb. CCS	5	cps	684.25	3,421.25	
	Books No. 53 bu Homer					
109	Classic Illustrated: A Tale of Two Cities, 48pp.Pb.	5	cps	684.25	3,421.25	
	SaltWay bu Dickens					
110	Classics Illustrated: The Hunchback of Notre	5	cps	684.25	3,421.25	
	Dame, 48pp. Pb. CCS Books No. 36 by Hugo					
111	Classics Illustrated: Hamlet, 48pp. Pb. CCS Books	5	cps	684.25	3,421.25	
	No. 39 by Shakespear					
112	Classics Illustrated: Julius Caesar, 48pp. Pb. CCS	5	cps	684.25	3,421.25	
	Books No. 30 by Shakespear					
113	Research in Accounting	3	cps	5,223.87	15,671.61	
	ç		•		,	
114	Corporate and Managerial Accounting	3	cps	3,299.63	9,898.89	
115	Dictionary of Accounting	2	cps	1,256.37	2,512.74	
115						 
116	Practical experiment in Physics; Step by Step	1	ср	727.37	727.37	
	guide K-12					
117	Climate change: A very short introduction 4e. by	2	cps	1,653.12	3,306.24	
	Maslin, Mark					
118	Climate smart Agronomy	3	cps	1,124.12	3,372.36	
110	A Tautha all of increation at and discourse	 2		001.07	2.075.64	
119	A Textbook of insect pest and disease	3	cps	991.87	2,975.61	
420	management (Agriculture and Forestry)	 		001.07	2.075.64	
120	Plant propagation and nursery management	3	cps	991.87	2,975.61	
121	Fundamental of Agronomy and Agriculture	3	cns	991.87	2,975.61	
121	meteorology-Aman Parashar	5	cps	991.07	2,975.01	
122		2		1 5 9 7 0 0	4 761 00	
122	Landscape Achitecture: very short introduction	3	cps	1,587.00	4,761.00	
123	The Graphic expression of interior design	3	cps	2,446.62	7,339.86	
125	method by Liu Xu	5	643	2, 170.02	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
124	Stem Cells: A very short introduction 2 e. Slack,	 3	cns	1,653.12	4,959.36	
124	Jonathan	J	cps	1,000.12	+,555.50	
125	Jonathan Body System 2 edition by Jones Barlett	3	cnc	2 107 07	0 272 61	
125	Jonathan bouy System 2 Eurion by Jones Barlett	5	cps	3,107.87	9,323.61	
126	Chemistry of Synthetic Drug	2	cps	991.87	1,983.74	 
1.0		-	645	551.07	1,000,74	
127	Chemistry Essential of Dummies	2	cps	991.87	1,983.74	
	-				-	
128	Fundamental of Biochemistry: Medical Course	2	cps	11,836.37	23,672.74	
	and step 1 Review by Mcgraw-Hill	 				
129	Fundamental of plant Biochemistry and	 3	cps	1,998.12	5,994.36	
	Biotechnology by Dr. Rajedra Kumar Yadav					
130	Is medicine still good for us A primer for the 21st	2	cps	1,818.43	3,636.86	
	century by Thames and Hudson					
131	The balance concept in nursing, New perspective	3	cps	720.00	2,160.00	
	in survival and health by Daisy Magalit Rodriguez	-			,	
			I	1	I I	

(02) 8643-1111 \* (02) 8641-1111 loc 1461 \* bidsandawards@pasigcity.gov.ph \*

Page 5 of 9 | RFQ No. 100-24-01-263 | RLD

132	First Aid and CPR guide 7E. by Jones and Bartlett	2	cps	991.87	1,983.74	
133	Alzheimer's Disease and Dementia: What everyone need to know	2	cps	2,711.12	5,422.24	
134	100 question and answer about prostate cancer 5e. by Jones and Barlett	2	cps	2,909.50	5,819.00	
135	ECG, Medical Student Survival Skills by John Wiley	2	cps	3,960.88	7,921.76	
136	Procedure Skills, Medical Student Survival Skills by John Wiley	2	cps	3,960.88	7,921.76	
137	Lung Cancer your question expert answer. 4e by Jones and Bartlett	2	cps	3,107.87	6,215.74	
138	Books of Synonyms and antonyms: A perfect	2	cps	654.63	1,309.26	
139	Top 50 Act English, Reading and Science Skills	2	cps	1,785.37	3,570.74	
140	Distance Education and Open Learning: Planning	2	cps	2,049.30	4,098.60	
141	Guide to Geographical Map Skils	2	cps	1,315.88	2,631.76	
142	Understanding and using English Grammar	2	cps	654.63	1,309.26	
143	How to write better English	2	cps	654.63	1,309.26	
144	How to Improve your English by David Thomas	2	cps	654.63	1,309.26	
145	Advance High School English Grammar	2	cps	2,182.12	4,364.24	
146	Trackling Anxiety in school: Lesson for children	2	cps	2,975.62	5,951.24	
147	Surprise; Primary 1: start 1 Grammar practice	2	cps	1,256.37	2,512.74	
148	Surprise: Primary 2: Grammar practice	2	cps	1,897.50	3,795.00	
149	GMAT official guide. Quantitative Review by John Wiley	2	cps	2,314.37	4,628.74	
150	Internet Research Methods: A Practical guide for the social and behavioral science	2	cps	4,999.05	9,998.10	
151	Managing applied social research. Tools, Strategies and Insights. by Jossey-Bass	2	cps	9,912.13	19,824.26	
152	Planning knowledge and research by Routledge	2	cps	8,662.37	17,324.74	
153	Research and Education Innovation 5e. by Routledge	2	cps	6,810.87	13,621.74	
154	Creative REsearch: The Theory and Practice of reaserch for the creative Industries 2e.	2	cps	6,017.37	12,034.74	
155	How to write a master Thesis, 3e. by Sage	2	cps	5,151.13	10,302.26	
156	Basic in Education Research by Ishica	2	cps	2,506.13	5,012.26	
157	Research Methodology: Quantitative Techniques in Economics and Management by Prof. M	2	cps	3,564.13	7,128.26	
158	Making your research Data and Documentation- APA	2	cps	4,357.63	8,715.26	
159	Advances in Multilevel Modeling for Education	2	cps	6,605.88	13,211.76	
160	research Practice Research 1: Basic of Quantitative	2	cps	925.75	1,851.50	
161	research 2 edition Practical Research 2. Exploring quantitative	2	cps	925.75	1,851.50	
	research 2 edition					

(02) 8643-1111 \* (02) 8641-1111 loc 1461 \* bidsandawards@pasigcity.gov.ph \*

Page 6 of 9 | RFQ No. 100-24-01-263 | RLD

		1		,			
162	An Integrated Course in Electrical Engineering 6th Edition, 1136pp. Pb. Sk Kataria And Sons. Reprint 2019		2	cps	8,199.50	16,399.00	
163	21st century literature from the Philippines and the word. 3 edition		1	ср	925.75	925.75	
164	Seeing world through statistic and probability; A comprehensive worktext in statistics, probability for senior high school		1	ср	1,487.81	1,487.81	
165	Must know Math Grade 7		1	ср	1,977.13	1,977.13	
166	Pre-Calculus: Analytical Approach'A comprehensive worktext in pre-calculus for senior high-school		2	cps	2,140.15	4,280.30	
167	MSA Introduction to Calculus by Gerard S. Alferez		5	cps	540.00	2,700.00	
168	Basic Calculus for Senior High School by Neil Jerome A. Efarguin		2	cps	7,635.00	15,270.00	
169	A-Level Economics Model Essay and Case study answer in Macroeconomics		1	ср	1,289.43	1,289.43	
170	5 Steps A 5 500 AP Macroeconomics question know test day 3e.		1	ср	1,319.85	1,319.85	
171	A History of Economics		1	ср	3,240.12	3,240.12	
172	Jose Rizal isinalarawang buhay ng bayang Pilipino by M. Alabastro		5	cps	240.00	1,200.00	
173	Technical report writing for criminology student by Maria Cristina Bajado		4	cps	610.00	2,440.00	
174	Encyclopedia of crime. Criminology and forensic science (2vols)-Dr Anand Kumar		1	cps	13,820.12	13,820.12	
175	Curriculum Development by Emelita Reyes ED.D		2	cps	485.00	970.00	
176	Introduction to phylosophy of the human person by Juanito Philip V. Bernardo Jr.		2	cps	555.00	1,110.00	
177	Sociology and Anropology an Introduction by Gloria Daquigan Ancheta ED.D		2	cps	565.00	1,130.00	
178	Practice tests in bartending from coffee to alcoholic drinks by Janine P. Siggagoat		4	cps	999.00	3,996.00	
179	Windows II Simplified by Wiley		3	cps	3,299.63	9,898.89	
180	Data-Analytic and insight print and interactive E- Text		3	cps	1,977.38	5,932.14	
181	Ripley's believe it or not 2024(hardcover)		2	cps	2,084.25	4,168.50	
182	Guiness World records 2024(hardcover)		2	cps	2,299.00	4,598.00	
183	The world of almanacs and book of facts 2024(hardback)		2	cps	2,722.00	5,444.00	
184	Philippine Alamanac Book 2024		2	cps	3,899.00	7,798.00	
185	Philippine food cooking dictionary by Edgie Polistico		2	cps	1,599.00	3,198.00	
186	Classical Mythology A to Z an encyclopedia for gods and goddesses heroes, herrines, by Annete Giesecre		1	ср	6,555.00	6,555.00	
187	Webster's new world pocket style guide		1	ср	654.63	654.63	
188	Dictionary of Business: illustrated information, informative		2	cps	1,124.12	2,248.24	

(02) 8643-1111 \* (02) 8641-1111 loc 1461 \* bidsandawards@pasigcity.gov.ph \*

Page 7 of 9 | RFQ No. 100-24-01-263 | RLD

of Reference, if any.							
<b>Note:</b> Other terms and conditions are stipulated in the attached Terms		ns <b>To</b> t	al	531,255.99			
192	Ang walong baso ni Kuya Paquito-Annie Pacaña Lumbao	2	pcs	330.00	660.00		
191	Ang bisikleta ni Momon-Rebecca Añonuevo	2	pcs	330.00	660.00		
190	Dictionary of computer science and internet illustration, informative, exhaustive by Wharton	2	сру	1,051.38	2,102.76		
189	Dictionary of Biology	3	cps	654.63	1,963.89		

**DELIVERY TERM:** Within **Thirty (30)** calendar days upon the receipt of Notice to Proceed.

\*Indicate the BRAND NAME or MANUFACTURER NAME and the specific MODEL to be offered or attach a BROCHURE for the offered item; items including but not limited to clothing, vehicle, equipment, devices, electronics, machines, drugs, medicines, medical supplies must be branded or at the very least, manufacturer shall be indicated.

Submit this Quotation (Accomplished and duly signed by the Owner or the respective Authorized Representative indicated in the Secretary's Certificate/Special Power of Attorney) not later than the closing date specified in the Bid Notice Abstract posted in PhilGEPS website along with the following documents:

- Mayor's/Business Permit (or a recently expired Mayor's/Business permit together with the official receipt as proof that the prospective bidder has applied for renewal within the period prescribed by the concerned local government unit subject to submission of the Mayor's Permit before the award of contract). The nature of business as stated in the Mayor's/Business Permit should at the very least be similar or related to the project to be bid.
- PhilGEPS Registration Number
- **Income Tax Return** Latest Income or Business Tax Returns filed and paid through the BIR Electronic Filing and Payment System (EFPS).

In accordance with Revenue Regulation No. 3-2005, the above-mentioned tax returns shall refer to the following:

- 1. Latest Income Tax Return (ITR) For participants already with an Annual ITR, latest ITR shall refer to the ITR for the preceding Tax Year be it on a calendar or fiscal year. For new establishments which, therefore, have no annual ITR yet, it shall refer to the most recent quarter's ITR.
- 2. Latest Business Tax Return refers to the Value Added Tax (VAT) or Percentage Tax returns covering the previous six (6) months.
- Accomplished and notarized Omnibus Sworn Statement (Form can be downloaded thru <u>https://www.gppb.gov.ph/downloadable-forms/#tab-61412</u>)
- **Proof of Authorization: Secretary's Certificate** if corporation, or **Special Power of Attorney**, if individual.

## ADDITIONAL REQUIREMENTS:

For Procurement of Drugs and Medicines:

Documents from the Food and Drug Administration (FDA):

- a. Certificate of Product Registration;
- b. Certificate of Good Manufacturing Practice;
- c. License to Operate;
- d. Batch Release Certificate (for vaccines, toxoids and immunoglobulins only) [to be submitted upon delivery]; and
- e. Certificate of Analysis (for anesthesia and antibiotics) [to be submitted upon delivery].

Caruncho Avenue, Brgy. San Nicolas, Pasig City, Philippines 1600

(02) 8643-1111 \* (02) 8641-1111 loc 1461 \* 🙆 bidsandawards@pasigcity.gov.ph \*

pasigcity.gov.ph

If the Supplier is not the Manufacturer, a certification from the Manufacturer that the supplier is an authorized distributor/dealer of the products/items.

Please submit the accomplished Quotation and required documents on or before the deadline of submission at the Bids and Awards Committee (BAC) through the Procurement Management Office (BAC Secretariat Office), <u>4<sup>th</sup> Floor</u>, Pasig City Hall, San Nicolas, Pasig City.

All documents should be submitted in a sealed brown envelope addressed to the "Bids and Awards Committee, 4<sup>th</sup> Floor, Pasig City Hall", and properly marked with the Project Title as provided herein.

The CITY GOVERNMENT OF PASIG reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.

For any clarification, you may contact us at telephone no. (02) 8641-1111 / (02) 8643-1111 loc. 1461 or email address at bidsandawards@pasigcity.gov.ph

## SGD

ATTY. BEA THERESE P. VILLANUEVA Officer in Charge, Procurement Management Office

I hereby certify that I have read and agree to this Request for Quotation, its Terms of Reference, and Bid Bulletin/s, if any. I further certify that the products to be delivered will conform to the specifications stated in the Item Description.

**Conforme:** 

Signature over Printed Name

Duly authorized to sign quotation/offer for and on behalf of \_

(Please indicate Company Name)

Caruncho Avenue, Brgy. San Nicolas, Pasig City, Philippines 1600

🔍 (02) 8643-1111 \* (02) 8641-1111 loc 1461 \* 🖄 bidsandawards@pasigcity.gov.ph \* pasigcity.gov.ph

Page 9 of 9 | RFQ No. 100-24-01-263 | RLD

Position